HIGHER MATHEMATICS
Answers to Exam Questions on Differentiation
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47.(a)
20 m/s


(b)
The speed of the ball after 2 seconds is zero; this means that the ball has reached its  

        maximum height after 2 seconds and is about to start falling back down.
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P(12, 10)
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(1, 3) and (3, (3)
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A(1, 3)
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(2, 4)
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(b)
proof

     (c)(i)   2 units2
         (ii)  The area of triangle OBC is independent of the value of a, ie the area of triangle 

                OBC is always 2 units2, regardless of the value of a.
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A(1, 4)
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77.(a)
(0, 3) and (3, (24)

(b)
(0, 3) is a point of inflexion;






(3, (24) is a minimum turning point

78.
((1, 17) is a maximum turning point;   (3, (15) is a minimum turning point
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80.(a)
(0, 0) is a minimum turning point;   (2, 4) is a maximum turning point

     (b)
The curve meets the coordinate axes at (0, 0) and (3, 0);
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(b)
((1, (2) is a minimum turning point;






(1, 2) is a maximum turning point
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(1, (2) is a minimum turning point
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83.(a)
((2, 0), (0, 2), (1, 0)

(b)
((1, 4) is a maximum turning point;






(1, 0) is a minimum turning point

     (c)
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84.(a)
(0, (2) and (3, 25)

(b)
(0, (2) is a point of inflexion;







(3, 25) is a maximum turning point
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(0, 0) is a maximum turning point;   (2, (8) is a minimum turning point
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